Quiz #8 12 March 2009
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1. [?/{ points] A school wishes to build a rectangular playground enclosed by a fence. The

playground will be located along the side of the building, so that only 3 sides of the laﬁgg,mi,ﬂ_zq 0O
need fencing; these sides are shown in bold in the figure below. The school has/Z28P meters of
fencing available. What is the largest possible area for the school’s playground?

Math234 AD2/AD4

l School Building I

; Playground
L
¥—-~—~>’ —
© Ax Y= 240
© \Z’ - ZL’D "2)(
o hrea = XY
p ")((ZL/LD '"‘1)4\)
= 240 x —Ix*
0 Ma,yfm He AVEQR #f Yo W }:O} ‘Z’Or}: C/L‘LCQ A(X) “L
; xX= O} ’X’:QU} %= 120
o n -4
A = 240 ~x Alo) = 0 lww-)-0
2% Lll\( ( ,4((00)"40'(”0 -—[7,G>
G =210 - ¢ 10+(120)
x= b0 | =612 <loo = 7200
" Aio) = 02208 = 0
[OVER -]

50 ’HM MAA Ut om0 6. 1S EZOO/MS{
1 )



ﬁ?\)ojr oN Aciuaﬂ Qu\?;l 5% ﬂovj P/acfy(/@ «}ﬁ}

Math234 AD2/AD4 Quiz #8

s

12 March 2009

O
%/Df{pomts] A rectangle is inscribed in a right triangle, as shown in the accompanying

figure. If the triangle has sides of length 8, 15, and 17, what are the dimensions of the
inscribed rectangle of greatest area?
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ZA? [3 parts, 1 point each] Use the exponentiation rules and logarithm rules to simplify the
following.

(a) (93/2 - 161/4)—1/2
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3 / [1 point] Solve for z, simplifying as much as possible without using a calculator. Your final
answer may involve e and/or logarithms.
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‘//,f/ [¥ point] How quickly will money double if it is invested at an annual interest rate of 5%

compounded continuously? Simplify as much as possible without using a calculator; your
final answer may involve e and/or logarithms.
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